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Второй алгоритм решения 
уравнений вида |f(х)|=g(х)

Уравнение |f(х)|=g(х) равносильно 
решению двух систем:

         

    

        

         f(х)≥0,                     
        f(х)=g(х);                          

или

        

f(х)<0,                     
 f(х)=-g(х);                          



Например:1.|х+3|=| х2 +х-6|

или

х+3 ≥0,
х+3 =х2 +х-6;
х≥-3,
х2 =9;
х≥-3,
х=±3;
х=±3.

Ответ: ±3.

х+3 <0,
х+3 =-х2 –х+6;
х<-3,
х2 +2х-3=0;
D1=1+3=4;
  х= -1±2;
х1=-3,х2=1.



2. х2 -4|х+1|+5х+4=0

Ответ:-8,-1,0.

х+1≥0,
х2 -4(х+1)+5х+4=0;
х+1≥0,
х2 -4х-4+5х+4=0;
х+1≥0,
х2 +х=0;
х≥-1,
х(х +1)=0;
х=0 или х=-1.

или

х+1<0,

х2 +4(х+1)+5х+4=0;
х+1<0,

х2 +4х+4+5х+4=0;
х<-1,

х2 +9х+8=0;
D=81-32=49;
х=(-9±7):2

х1=-8,х2=-1.



Решение 
уравнений с модулем.

Решить самостоятельно:

1. |х²-8|=2х,
2.|х²-х+3|=|х²+2х-5|,
3.х²+|x|-2=0,
4.x²-3х-4|х|:х=0.



Проверка решения 
уравнений с модулем.

1. |х²-8|=2х,
2х≥0,             или     2х≥0,   

х²-8=2х;                  х²-8=-2х;

х≥0,                            х≥0,   

х²-2х-8=0;              х²+2х-8=0;

D₁=1+8=9;            D₁=1+8=9;             
х=1±3;                     х=-1±3;

х₁=4>0,                      х₁=-4<0, 

х₂=-2<0.                    х₂=2>0.

 Ответ:4;2.  



2.|х²-х+3|=|х²+2х-5|

или

х²-х+3= х²+2х-5,
3х=8,
х=2⅔

Ответ:2⅔, (-1±√17):4.  

х²-х+3=-х²-2х+5,
2х²+х-2=0,
D=1+16=17,
х = (-1±√17):4.



3.х²+|x|-2=0

Если х≥0, то х²+x-2=0,
D=1+8=9, 
х=(-1±3):2

х₁=-2<0, х₂=1>0.

Если х<0, то х²-x-2=0,
   D=1+8=9, х=(1±3):2  

             х₁=2>0, х₂=-1<0.

Ответ: ±1.



4.x²-3х-4|х|:х=0.
Если х≥0, то x²-3х-4=0,

     D=9+16=25, 
                       х=(3±5):2,

                         х₁=4, х₂=-1.

Если х<0, то x²-3х+4=0
                     D=9-16=-7,  

                  корней нет.
Ответ:4.


